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From where do we know that being warned for a stringent matter is
considered being warned for a lenient matter, perhaps he is not

Overview

The X713 derives that by a %211, he is 7?12 XY 22wn (even if there was 78N7),
from the 0?09 regarding 777 AWK 1031 (where he was warned not to kill her), and
if he wounds her, he is 7?12 X1 02w (even though he was warned 7n°n?) and we
will assume that one who was warned for a stringent punishment (in this case 7in°»)
is considered warned for a lesser punishment (np5n). The X3 challenges this
assumption; perhaps a "% 12772 7MA is not 2P 1272 AN, Our NMOIN discusses
the logic of such a claim.’

- 2NN 52597 NID NAART DIV NRYLT Y PPN
One cannot say that the reason a 7n 1272 770 is not %P 1272 7N, is

because he accepted the warning that he will be killed -
= MMINPT NN *Drnwys 0y YY) MNNT INIY NIIY NN HY 19129 19 NNNT

For it is agreeable to him that he be Kkilled as long as his enemy is killed; he is

saying, ‘my soul should die with together with the a2snw>s’ -
- 99950 3 HY 19530 NN MINY %Y XA NY YaN

However, it is not agreeable for him to hit his friend and he himself will be

flogged; mooin rejects this reasoning -
- 519D 1311 129YNIY MNP 539901 SINPT (3,09 97 pr1mv) PPOIYIN DIT PIINNN NNT

Because regarding the mw» in Ppawir pp, which states, ‘people who are

" The purpose of the warning is to determine that this person is willingly transgressing an Mo°%, knowing that he will
be punished. If he is willing to transgress an MoK, when there is a severe punishment, he is (seemingly) surely
willing to transgress an MOX if there is only a lesser punishment. Seemingly if the person was warned that if you
will transgress, and (in our case) your actions will kill the woman, you will be killed, and despite the warning he
went ahead and attacked the woman, but did not kill her, where there is only a M1 punishment, should that not be
a sufficient warning. What is the logic to argue that "7 1277 790 is not a %P1 9272 7NN ?!

% Accepted the warning’, means that he understood that if he transgresses, he will be put to death and nevertheless
he is prepared to transgress and die. See footnote # 7.

? This is the statement Tw»w said (in 9,70 2voWw) when he pulled down the pillars of the building and killed many
o°'nw>o, and he himself also perished. A person may be willing to die if at least his enemy will die.

* If his “friend’ (enemy) will only be hurt (not killed) it is not ‘worth it’ for him, if he will also be flogged. The
flogging he receives may (even) be worse that the victim’s wound.

> This means one who was 77°p0 2™ (the most severe death penalty) became mixed up with another who was
Pan 2 (the most lenient death penalty), and we cannot distinguish between them, who receives which death
penalty. We give them both pi1. We ‘obviously’ cannot give 72°p0 to both of them, since the one who was P17 21,
was only warned that he would receive Pir, so we cannot give him 77°p0.
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condemned to die (with different types of death penalty) that became

intermingled, they should be punished with the more lenient death penalty’; this
concludes the mwn -
- 9PN 1379 NIMN NN NN 1379 NINM NN YBY (3,297 0v) KIIIZ MNP

So the X7»3 comments on this 71wn, ‘we can derive from this that a =27% 70w

2vm is Dp7 "2TR AN’ -
- 792y 19YPDY 13 19011 1197 ROIWS DN

And there it is obvious, for since they warned him regarding 7%°p2 and he

accepted it -
— Yapn NXAY 1YY 927NN Y 73N 12 99NN OXRY 19V Y

So certainly, if they would have warned him for pir for that same offence that

he would have accepted it, and transgressed -
- %9m1 9245 N9 1N RY MNN 9275 NIMNT IMNMNY YA 397 1999N)

And nevertheless, the X713 there wants to say that =vam 2279 790 is not 70w

BP7 2T -
19990 192 NYP 12 NN DIRY ALY PNV 15827 *NIN 2NN NPT 1Y U NN

Rather one can say that it is a 230577 n9°12 that we require that he should accept
on himself that specific death penalty, whether lenient or severe.

Summary
There is no logic why 2vm7 9277 7707 should not be 977 1277 77nn, rather it may

be a 210377 D).

Thinking it over
Does n1vo1n answer of 2"77°13, apply only to 70 1 70 (where it states N7 NNY), but

not to MpYm1 Nk, or does the 5"7°1x apply to all cases (even by mpom1 1nn)?

% We give pan to both of them even though one is 72°p0 21, and was not warned regarding pan. This proves that if
he did not heed the warning for a more stringent punishment, he is surely warned for a lighter punishment for he
certainly would have committed the same crime for a lesser punishment.

7 See footnote # 2.

¥ The xa there rejects the proof from the A3wn that 9P 9272 770 MR 1272 77N, for perhaps he is not 7IM», and
the miwn is discussing a case where the witnesses did not specify which 7n he will receive, ¥">¥. In any even we
cannot apply the reasoning N1901n offered initially, because in this case there is a death penalty either way.

? See X,x0 177710 that we derive from the 109 in 3,7 (2°w9W) 0127 that N N requires that M7 MXY PRw 79
and as *"w1 explains there (on 7°ni7 7"7 2,7) that Six 32 nan by MR RIT NONHD 0 2007 ANKRY N2YN YR 12 anInawow
(X1 A7) 1PYTI A7 1K MY 1POR XY OXT eIy,
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